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Interactions & Ecosystems - Quiz 1: Topics 1, 2, 3.

/30
Take your time. Read each question carefully.

Matching (10 marks total)

Put the correct LETTER beside the number in column A that fits the description.

	
	A
	B

	
	
	

	___
	1. A scientist who studies interactions between the abiotic and biotic parts of the environment
	A. ecology

	
	
	

	___
	2. The materials and products found in nature
	B. habitat

	
	
	

	___
	3. Resources of nature are being renewed at least as quickly as they are being used
	C. adaptation

	
	
	

	___
	4. The location where an organism lives
	D. ecosystem

	
	
	

	___
	5. The study of how organisms interact with each other and their environment
	E. natural resources

	
	
	

	___
	6. A calculation of the total area of land and water needed to supply all of the materials and energy a human uses, as well as absorb the waste produced
	F. sustainability

	
	
	

	___
	7. All the interacting parts of a biological community and its environment
	G. ecological footprint

	
	
	

	___
	8. The organism that a parasite lives and feeds on
	H. parasite

	
	
	

	___
	9. An inherited characteristic that helps an organism survive in its environment 
	I. host​

	
	
	

	___
	10. An organism that lives on or in another organism and feeds on it
	J. ecologist


Multiple Choice (10 marks total)

CIRCLE the letter of the correct answer.

	11. 
	Before they were reintroduced, the last swift fox was seen in 1928.  What did humans do that caused the foxes to die off? 



	A. 
	Over hunting led to their extinction

	B. 
	They were accidentally poisoned when people used poisons to control the wolf and coyote population.

	C. 
	Human developments such as cities took away the foxes’ natural habitat in the prairie grasslands.

	D. 
	B and C



	12. 
	What are the basic needs of living things?

	A. 
	Food and water

	B. 
	Habitat

	C. 
	Exchange of gases, especially oxygen and carbon dioxide

	D. 
	All of the above



	13. 
	Which of the following is an adaptation of an organism?



	A. 
	Humans look both ways before crossing the street

	B. 
	The special feet of robins that have three front toes and one hind toe that automatically lock around a branch when they land

	C. 
	A dog learning to sit when given a cue or command such as “sit”

	D. 
	None of the above



	14.
	A log is an example of an ecosystem.  The parts of this ecosystem include:



	A. 
	The organisms living in and on the log

	B. 
	The soil, temperature, and other non-living features around the log

	C. 
	Both A and B

	D. 
	None of the above​


	15. 
	Commensalism occurs when:



	A. 
	Two species live closely together in a relationship that lasts over time

	B. 
	Two different organisms have a relationship where each partner benefits

	C. 
	Two different organisms have a relationship where one organism benefits and the other organism is harmed

	D. 
	Two different organisms have a relationship where one organism benefits and the other neither gains nor loses anything



	16. 
	Parasitism occurs when:

	A. 
	Two species live closely together in a relationship that lasts over time

	B. 
	Two different organisms have a relationship where each partner benefits

	C. 
	Two different organisms have a relationship where one organism benefits and the other organism is harmed

	D. 
	Two different organisms have a relationship where one organism benefits and the other neither gains nor loses anything



	17. 
	Mutualism occurs when:


	A. 
	Two species live closely together in a relationship that lasts over time

	B. 
	Two different organisms have a relationship where each partner benefits

	C. 
	Two different organisms have a relationship where one organism benefits and the other organism is harmed

	D. 
	Two different organisms have a relationship where one organism benefits and the other neither gains nor loses anything



	18. 
	Symbiosis occurs when:


	A. 
	Two species live closely together in a relationship that lasts over time

	B. 
	Two different organisms have a relationship where each partner benefits

	C. 
	Two different organisms have a relationship where one organism benefits and the other organism is harmed

	D. 
	Two different organisms have a relationship where one organism benefits and the other neither gains nor loses anything



	19. 
	Which of the following statements is false?


	A. 
	First Nations people (i.e. aboriginals) in Alberta hunted buffalo by driving them over a cliff.  They were very efficient, using all parts of the buffalo to meet their basic needs.

	B. 
	Early settlers on the prairies often kept small mixed farms where they raised crops and livestock to meet their basic needs.

	C. 
	Early settlers had less impact on the environment than the First Nations people because they modified the farmland to support crops and livestock.

	D. 
	Feedlots that contain large numbers of cattle have a large impact on the environment due to the waste they produce that concentrates in the soil.

	 
	

	20. 
	Which of the following is not a basic need in Alberta, but rather an “unnecessary” want? 


	A. 
	Clean water from our taps

	B. 
	Fruits and vegetables imported from different countries

	C. 
	A house or shelter to protect us from the elements

	D. 
	All of the above


Short answer: (10 marks total)

21. Name and describe the 3 R’s and what they mean. (6 marks)

	NAME
	DESCRIPTION

	1. 


	

	2. 


	

	3.


	


22. Give 2 ways that a beaver dam affects their ecosystem. (4 marks)

	1. 



	2. 




Bonus marks:

What special adaptation do earthworms have for breathing underground? Why do they come to the surface when rain falls and floods their burrows?  (2 marks)
